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𝑽𝟏 =
𝟏.𝟓 𝑳×𝟏.𝟎

𝟐.𝟓

𝑴𝟏 × 𝑽𝟏 = 𝑴𝟐 × 𝑽𝟐





𝑀 =
𝑊

𝑀𝑊𝑡
𝑥

1000

𝑉𝑚𝑙  
500 mL

volumetric
flask

500 mL
mark

45.0 g NaCl
solute

𝑊 =
𝑀×𝑀𝑊𝑡×𝑉𝑚

1000

1.54×58.5𝑡×500

1000

𝑊



= 1200  mL 

–  150.0 mL 

=   1050 mL 



What volume of 0.200 M CuSO4 solution must be diluted to 500.0 mL to produce a 

0.150 M solution?

M1V1    =    M2V2

(0.200 M) (V1)     =    (0.150 M) (500.0 mL)

V1     =    375 mL



𝑻𝒉𝒆 𝒎𝒐𝒍𝒂𝒓𝒊𝒕𝒚 𝒐𝒇 

M1V1 = M2V2

(0.26153 M)(100.0 mL)  =  M2(40.0 mL)

M2 =  0.654 M

100.0 mL – 60.0 mL

= 0.262 M

𝑀 =
𝑚

𝑀

1

𝑉 𝑙

𝑀 =
1.53 𝑔

58.5 𝑔/𝑚𝑜𝑙

1

0.1 𝐿
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 NaOH (aq)     Na+ (aq)   +   OH- (aq) Base

 HCl (aq)                       H+ (aq)   +   Cl- (aq)  Acid



•

•

•





HCl (aq)   +   H2O (l)           Cl - ( aq)   +   H3O
+ (aq)

❑

❑
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https://www.priyamstudycentre.com/2020/03/hydrogen.html
https://www.priyamstudycentre.com/chemistry/molecule




https://www.priyamstudycentre.com/2020/09/covalent-bond.html
https://www.priyamstudycentre.com/2019/09/quantum-number-orbitals-diagram.html
https://www.priyamstudycentre.com/2020/12/electron.html
https://www.priyamstudycentre.com/2019/01/lewis-concept-of-acids-and-bases.html


HCl + OH- →  Cl- + H2O 

H2O + H2SO4 →  HSO4
- + H3O

+ 
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  Kw = [H+][OH-] 

  Kw =(1 x 10-7 )(1 x10-7 )

, 
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CHECK THIS OUT !

[H+] = 0.0000001 = 10-7  

                                      pH = 7



pH = 14

pH = 12

pH = 7

pH = 2
[H+] = 10-2

[OH -] = 10-12

[H+] = 10-7

[OH -] = 10-7

[H+] =10-12

[OH -] = 10-2

[H+] =10-14

[OH -] = 100

[H+] < [OH -]

basic 

[H+] < [OH -]

basic

[H+] = [OH -]

neutral

[H+] > [OH -]

acidic

acidic

basic





This is the 
calculator 

button



H+ OH-

pH pOH

[OH-] = 1 x 10-14

[H+]

[H+] = 1 x 10-14

[OH-]

pOH = 14 - pH

pH = 14 - pOH
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Example: Calculate the pH or pOH

a.  [H+] = 1.0 x 10-9 M       b.  [OH-] = 1.0 x 10-6 M

pH = - log [H+]

pH = - log (1.0 x 10-9 M)

pH = 9.00

pOH = - log [OH-]

pOH = - log (1.0 x 10-6 M)

pOH = 6.00



pOH = - log [OH-]

pOH = - log (1.0 x 10-3 M)

pOH = 3.00

Kw = [H+][OH-]

1 x 10-14 = [H+][1.0 x 10-3 M]

[H+] = 1.0 x 10-11 M

pH = - log [H+]

pH = - log [H+]

pH = 11.00



a.  [H+] = 1.0 x 10-9 M b.  [OH-] = 1.0 x 10-6 M

pH = - log [H+]

pH = - log (1.0 x 10-9 M)

pH = 9.00

pOH = - log [OH-]

pOH = - log (1.0 x 10-6 M)

pOH = 6.00
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